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Abstract

Research notes on Crops.

1 Problem Definition

Suppose there are C' classes, we encode y; by an
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indicator vector p; , in which p; ; € {0,1}.
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For example, if there are four classes, then the indicator
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represents the corrsponding label y; as the
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1st class, while as the 4th class.
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The Crops Problem is defined as follows:
Input:
For High Res,

€

T4
in which
tetht = {th .. thi

7 "Mhi

For Low Res,

Z1

Zd

in which
tl ow

) "Miow

tetlow =t

Second Author
Affiliation / Address line 1
Affiliation / Address line 2
Affiliation / Address line 3

email@domain

Knowledge:
For class c, at time ¢, the ideal value of high res feature is:
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So we have:
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Similarly, for class c, at time ¢, the ideal value of low res
feature is:

¥1
low __
@t,c -
Pd
So we have:
(I)low _ [ lowl low . ‘ low]
t = P P2 Pt.c

Objective:
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in which « is a control parameter.

(Zhu et al., 2008)
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